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YER%224E9 A 1 H BAE
w 5 LS QL
168, 046 86, 204 81, 842 93, 951
S R S— S 7 R S—
CINED, o ks (B T4) | F %

R 1T H| 1,08 | 1,833 996 837 |HF 1 T H 825 | 1,530 769 761
B W2 T H 792 | 1,426 712 14| |HF 2 T H 361 635 334 301
A W3 T H| 1,172 2,115| 1,064 | 1,061 | [ 3 T H| 1,109| 2,057 | 1,009 [ 1,048
B W4T H 736 | 1,300 676 624| |7 4 T H 414 785 355 430
WA 1T H 547 | 1,016 497 519 | (B 2 1 T H 826 | 1,311 656 655
o o#& 2 T H 618 | 1,091 526 565 | B 2 2 T H 489 801 399 402
KEBLT H 588 983 501 482 | |t E®H 1T H 549 906 465 441
KEE2T H 710 | 1,351 663 688 | (It E® 2T H| 1,380 2,442 1,293 | 1,149
KEB3IT H 838 | 1,493 750 43| |[F &1 T H 913 | 1,718 846 872
KEE4T H 319 504 271 233 [F & 2 T H| 1,504 2,759 | 1,325 1,434
ERE®S T H 775 | 1,327 716 611 |F & 3 T H| 1,065| 1,767 858 909
BB 1T B 647 | 1,207 611 596 | |[R &= 1 T B 542 862 450 412
B 2T H 485 912 468 444 | MR = 2 T H| 1,078 | 1,729 918 811
B oAr 1 T B 294 421 233 188 | [#2 B 3 T H| 1,501 | 2,795 1,345| 1,450
Al 2 T H 592 961 462 499 | |#R B= 4 T H| 1,218 2,446 1,176 | 1,270
AT = 673 | 1,131 554 577 | W &+ 5 T H| 1,807| 3,611 | 1,759 | 1,852
B Al 4 T H| 1,088 | 1,934 974 960 | [N & 1 T H| 1,572 2,878 1,389 | 1,489
MNE 1T B 926 | 1,582 785 797 (A& 2 T H| 1,162 2,236 | 1,095| 1,141
N E 2T H 643 | 1,219 598 621 | |=& & 1 T H| 1,060| 2,008 997 | 1,011
=% 17T H 957 | 1,769 871 898 | |m & 2 T H| 1,120| 2,427 | 1,174 | 1,253
= 2 1T H 905 | 1,669 866 803 | |/& & 3 T H| 1,432| 2,587 1,298| 1,289
®oOEH 42 50 34 16| (a1 7T H 539 997 510 487
%% 1 T H 339 597 268 329 | |3 w271 Hl 1,006 1,901 961 940
8% 2 T H 71 118 61 57| ke84 3T B[ 1,003| 1,998 | 1,060 938
% 3 T H 312 556 302 254 | (A s 4T B| 1,252 2,239 1,111] 1,128
8 4 T H 38 71 34 37| |HE&EELT H 460 779 381 398
% 57T H 318 488 252 236 | |FE&E 2T H| 1,319| 2,060 1,085 975
8 6 T H 140 262 138 124 | |[PE &3 T BH| 1,424 2,604| 1,316 1,288
% 7T H 526 970 496 4741 [E M1 T H 717 1,307 633 674
W EB1T A 547 972 489 83| [EM 2T H 835 | 1,456 707 749
w2 T B 327 546 256 290 | |#& B 1 T H 774 | 1,452 725 727
W EB3T A 759 | 1,365 639 726 | | 2 T BH| 1,349| 2,380 | 1,197 | 1,183
W4T B 567 922 481 441 | |¥%& ¥ 3 T H| 1,426| 2,479 | 1,181 | 1,298
W EB5T A 763 | 1,434 736 698 | |¥& ® 4 T H| 1,372| 2,491 | 1,253 1,238
W EEe6 T H 863 | 1,703 826 877 | | ¥ 5 T H| 2,067| 3,918 2,009 | 1,909
TTEELT B 920 | 1,698 885 813 | | ® 6 T H| 1,409| 2,718 1,330 1,388
T 2T B 435 745 395 350 | [#& #= 7 T H 373 693 345 348
L HE3 T B 972 | 1,762 893 869 | |HEJII =1 T H 550 | 1,048 526 522
TLEEAT B 673 | 1,296 626 670 | IHEJIIF 2T A 664 | 1,233 611 622
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wrrs) B TER T B
T ® 17T H 878 | 1,644 843 801
T H 2T H 931 | 1,744 883 861
T 3 T H| 2,018| 3,272 1,780 | 1,492
T &k 4 T H| 1,690 2,662 | 1,551 | 1,111
A F 1T H 675 | 1,245 613 632
A 7 2 T Al 1,454 2,761 1,459 | 1,302
WEE1LITH 779 | 1,588 833 755
WEHE2T H 793 | 1,552 846 706
% 1T Al 1,711 3,564 | 1,866 | 1,698
% Y% 2 7 Al 1,151 2,186 1,079 1,107
W )1 T H| 1,147| 2,069 | 1,169 900

Ww )il 2 T H| 2,786 | 3,669 | 2,658| 1,011
HAELT Bl 1,937 2,825| 1,951 874

HALE2 T Bl 1,906 3,194 1,831 | 1,363
= /W1 T H| 1,239 2,087| 1,032 1,055

— w21 H 422 733 387 346
M2zl T B 227 424 199 225

Mz 2T H|l 1,084 1,866 917 949

.z w3 T H 232 401 206 195

w4 T H 746 | 1,408 659 749
R /N 138 219 153 66
B ALITH 679 | 1,325 640 685

LEREA2T H 452 921 450 471

rH 1T H 413 782 353 429
N A = 902 | 1,652 790 862
A 37T H| 1,451 2,653 | 1,238 1,315
® 4T H 290 548 272 276
®H 5T H 481 861 412 449
® 6 T H 196 386 182 204
® 7T H 584 | 1,063 506 557
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